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1. W 1 Fimw, (5 s 75 0 P 0 01 8 T O 5 A B IERE RB 3 B4R B E H=0.4 m, HERER d=0.6
m, HE4A 58 (A 17 B 6=1 mm, FL[H] F5 T E 1R p=0.1 Pa-s ATIEIE I - 17 e i A T E 0=100 rad/s
BEE L KR /15T (10 77)
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2. R T DU TR A VIE B R A R SR R U7 AV BE—MFETMAR—MRE. (107)
3. E 2 iR A—ER/KRIT, DEKREELLA 13.6, 7=9800 N/m®, #;=0.7m, h=0.5m, h=0.3
m, h=0.6m, K A & HLNERKRERPa=] KEE) (EFIMEE ¢=9.8 m/s)(15 )
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4 W3 P, —BEMEI, %b=1m, B D=4m, FUEK, LI#KEH=4m, T
KR Hr=2 m, RAEFZENT LMRE N KD R E . (EIMERE ¢=9.8 m/s”) (15

)
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gy 1 T WO T B PR 3 =18 KN/ (R Y R 38), 7KL 0=0.1 m’/s, AHH/KSkHIsR, KK
BT R RN . (BN g=9.8 m/s”) (15 43)
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44 0=60°, HAH d=200 mm &N =150 mm.
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6. FTIBHT I BI 1 o — 3040 it BV K A s, il S Fias. BTP RAEEWT:
H=2m, ;=15 m, ,=20 m, &% B4 ¢=200 mm, # O 1 ZE =1, =NELHE I R H=0.2,
H OB B8 c=1, JEFERE A A 400=0.025, BH/KRNBERKAUEEREh]=T m. KB
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WL R U B B TR K Ao RS Moo (B JTHINSEE £=9.8 m/s”) (15 43)

h \\ / \\‘\\\\"fi’\&\\
L ( % ~—
< [ W
Zo H 2 | v
Zl 22 U =
R 6 &
@L7)EEAE FE2WH 2R




